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M�1: 

(i) 

(ii) 

(iii) 

(iv) 

(v) 

(vi) 

���';{ �t I 

��';f � I "« 4 -ac6 cHg� ISo Sf�';{ t I � 3"fq) 20 t I 

��';{ � 5 "« 7. -ac6, � ��';{ 2 � (61 ti (�W{ � 30 �W{) 

��';f � 8 "« 10 -ac6, � ��';f 3 � (61 % I (�W{ "BTqJ 75 �W{) 

'!;f�';f � 11 "« 15 a'co, � ��';{ 4 � (61 t I (�W{ r:frlT 120 ��) 

��';f � 16 "« 18 a'co, � ��� 5 '3lcl> (61 t I (�W{ � 150 �W{) 

(vii) ��";J �. 5 "B' 18 a'c6 �1�11:cfi Pclcfi{iq � Tft:!; %' I

Instructions : 

(i) All questions are compulsory.

(ii) Question Nos. 1 to 4 are objective type. Carries total 20 marks.

(iii) Question Nos. 5 to 7, each question carries 2 marks. (word limit 30 words)

(iv) Question Nos. 8 to 10, each questjon carries 3 marks. (word limit 75 words)

(v) Question Nos. II to 15, each question carries 4 marks. (word limit 120 words)

· (vi) Question Nos. 16 to 18. each question carries 5 marks. (word limit 150 words)

(vii) Internal choice is given in every question from Question Nos. 5 to 18: 
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(i) (f)�q4 #111 <l�s CsCI -q' � (f)lzilq4 � cs+ ctr �4,;qq � 8 "ITT
oT #111 (l�s '3lTtA c1- c61 �4.qq � "ITT1ft -

(ii) 

(a) 8

(c) 6

(b) 4

(d) 12

� t11<f.f>l(it -q' o;fuflcb � ctr '3Tfu�ffl 1,1Rb<.11 -q' o;fuizcb � t-

(a) '3lftr�M (b) i3lfu�lf&f

(c) 3lq�ffl (d) 3lq�� 

tx5=5 

(iii) � -q-� � c6l 1T'f ffi -q"(' � ��lcR-ll�s � � t-1 �1Rcic6l
-q' � mfilT qiT � i -

(a) WTii'Ff

(c) f1«11q-1

(iv) i:stl�(ftelll-il�s W� � t-

(a) J O � 

(c) 20

� 

(a) WfITTf
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· Choose correct option

(i) If the coordination number of cesium ion cs+ in Cesium chloride is 8,
then the coordination number of chloride ion will be -

(a) 8

(c) 6

(b) 4

(d) 12

(ii) In the adsorption process of acetic aci,d in activated charcoal,
acetic acid is -

(a) adsorbent (b) 

(c) absorbent (d) 

(iii) Carbon dioxide is released on heating
This is called -

(a) Smelting (b) 

(c) Calcination (d) 

(iv) The isocya_nide test is given by

(a) 10 amme (b) 

(c) 20 amine (d) 

(v) The disaccharide present in milk is -

adsorbate 

absorbate 

lime stone ore, in 

Ore dressing 

Roasting 

phenol 

triethylamine 

(a) sucrose

(c) maltose

(b) lactose
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2 ft<@��: 1X5=5 

(i) � '3fcR� � <-i'ifulfli #l1 o�s � � qi1 tlql(>-tch m c6T cfITT"UT __ _

t' I 

(iv) [Co(NH3)4C12]CI �� &TU '1ffi � � � � � � msm

i, 

mil i, ---

Fill in the blanks 

(i) are the reason for the electrical conductance of sodium--··-----
chloride in molten state. 

(ii) Calcopyrites is the main ore of ___ metal.

(iii) White phosphorus possesses _· ___ composition in vapour state.

(iv) The total number of ions provided by the complex [Co(NH3)4Cl2]CI in
water is

(v) The monomer in orion is _____ _
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3 ut) � � 

II ,3{11 11�11 

(i) ��� (c6) ��{ 

(ii) �� (�) ti 1-flB f21 l �lfkcb· 

(iii) � (Glcb � (Tf) )� '341$(11 H 

(iv) \.ll<!>Rtcb � ('cl) CaOCl2 

(v) �cb(rfl$l (�) S::c:tAt)cbl@$S 

(q) NaCl

Match the pairs 

II A II IIB" 

(i) Schottky . defect (a) buna-rubber

(ii) gold number (b) thermosetting plastic

(iii) bleaching powder (c) lsoprene

(iv) natural rubber (d) CaOCl2

(v) backelite (e) lyophilic colloid

(f) NaCl

(i) 'cltl%1.'lc6\.lf f{Fcfucbl c6T � � [{it ful� I

(ii) '111tfPitH1 B'1"icf>(OI fl.'lfulq I
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5 

(iv) � � t -ctil� t fuQ; �1(1 -q � � '3�� fra .,rft � %"?

Answer in one word 

(i) Write the radius ratio for tetrahedral void.

(ii) Write the Arhennius equation.

(iii) Write the name of the process used for refining of nickel.

(iv) Which gas is filled in the balloons used for meteorological experiments ?

(v) The salts of transition metals are generally coloured. Why ?

� -11��1ii11 fra N2 <i>1' 293K 'q""{ � -q � \.lqllta M "iJ1TC{ m l% 
ftiITT � -q � P1J1'11� N2 fru � m1'T ? N2 cl)J �Tc6 �
0.987 m-{ %° om 293K 'q""{ N

2 
t � m � KH cl)J lJR 76.48 m t I

If nitrogen gas N
2 

is passed in water at 293 K, then how many milli mole 
N2 gas will be soluble in one litre water ? The partial pressure of N2 is 
0.987 bar and the value of Henry's law constant K1-1 at 293K is 76.48 bar. 

� /OR 

298 K 'q""{ CO2 fro' � � -q Pcl(tl <.1a I � . fuQ; m � cl)J lfR
1.67 x 108 Pa i1 500 ml msT � 2.5 atm ffl 'q""{ � M "Jfml 298 K 
wt 'q""{ � rt CO

2 
� lfBll � 1fOiRT c61Rilq I 

Henry's law constant for CO
2 

in water is 1.67 x l 08 Pa at 298 K. Calculate 
the quantity of CO

2 
in 500 ml of soda water when packed under 2.5 atm 

CO2 pressure at 298 K. 

2 
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What are Freundlich adsorption isotherms ? 

� I OR

. (i) ��T � � ct>1@�s1 �(<t<Fi � -q -a l"f1Ff c6"{aT i ? 

(ii)·� -q -a� WU �ql�d c6t '1J@T i? 

What happens when 

(i) Beam of light passes through a colloidal sol ?

(ii) Electric current is passed through sol ?

7 f.i&.iR.tf©a • i3lT1:R1 -q cb�q mg -q «<h<o1 aerr � cGt � qRift 
;,:q I flt RI 'qjT '3(,{T) © cGI Rrt ct -

(i) [Ni(Cl)4]2-

(ii) [Fe(CN)6]3-

Mention the hybridisation and the geometry attained in the central metal and 
complex ions -

(i) [Ni(Cl)
4J2-

(ii) [Fe(CN)6]3-

3Nc« I OR

f;i&.iR.tf©a Z3qtft;<illl#l <t1P1cb1i t IUPAC -fllT R.if©ct 

(i) K2[Zn(OH)4]

(ii) [Ag(NH3)i] [Ag(CN)2]

· Write the IUPAC riame of the following coordination compounds

(i) Ki[Zn(OH)4
]

(ii) [Ag(NH3
)i] [Ag(CN)i]

2 

2 
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8 

.-•-·-· 

(i) lffirr �'l-ITTf

( ii) 

(iii) 

Write the definition of the following 

(i) .mole fractiQn

(ii) molality

(iii) molarity

� qq'Ji{il m -f1B -q #11f14il4 CHCl3 � ffi 31"� � � t

ijf) fc6 �fl (Gl.=t4i ci>l�•fNH mat i I � 31"� cfiT � 15 ppm (�cllS:Cl.=t 

clft � �) m,

. 
(ii) \jf(Yf m w � -q #11(14,14 clft '11!.'ii.iiai mo ct)�tt ,

In a sample •Of drinking water, many impurities are found including 

chloroform CHCI3, which are carcinogenic. The level of these impurities was 
15 ppm (according to mass) 

(i) Show it in mass percentage

(ii) Find the molality of chloroform in this sample of water.

3 
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9 

(i) RCN + 4H LiAIH4. 

(ii) RCONH2 
+ Br2 + 4KOH. -- __ + __ + ___ +

(iii) RN02 + _H _S_' n_/H_C_I ____ + __ _

Complete the following reactions -

(i) RCN + 4H LiAll-14 

(ii) RCONH
2 + Br2 

+ 4KOH + + + -- --- ---

(iii) RN02 + 1-1 _S_' n_/H_C_I_ --- + ---,--

3NcfT / OR 

cfITTUT (:P-l$il�l!; -· 

(i) q-1�{,ft;i (-ll�¾YM¾� � -ti- '3{q� � � mfil t I

Explain the reason -

(i) Aniline is a weaker base than cyclohexyl amine

(ii) Silver chloride dissolves in methyl amine solution

3 

(iii) It is difficult �o prepare pure amine by atnmonolysis of alkyl halide.
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What are Zwitter ion and protein denaturation ? 

3Fro I OR 

s"1q1q � mq-;r rftlT t? � � cfqT t?

What is DNA Fingerprinting ? Why it is important ? 

3 

11 Ptt.:ifiiif©a �'3TI' t � i:4Zilcbl. -« � � cmfl crm � 4 

� � �cbl�tff ffld" �fut q 

(i) 3NO
(g) ➔ N20

(g) ; �. = k[N0]2

(iii) CH3CHO
(g) ➔ CH4(g) + co2(g) ; WT.= k[CH3CHO]312

(iv) C2H5CI
(g) ➔ C2H4(g) + HCl

(g) ; tiT = k[C2H5CI] 

Find the order of reaction and the unit of rate constant for the following 
reactions by their rate expressions -

(i) 

(ii) 

(iii) CH3CHO
(g) ➔ CH4(g) + CO2(g) ; Velocity = k[CH3CHO]312

(iv) C2H5CI
(g) ➔ C2H4(g) + HCl

(g) ; Velocity� k[C2H5Cl]

3N<n I OR 

� cb)futq cCr "Sl'tllf cmfl � �- coT 3@: �lgcbl{,I � � � 
� lf{ �'TT :;:Jfr "cb«TT I 

Prove that the half life period for a first order reaction does not depend on 
the initial concentration of reactants. 
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12 �� 4(�·•1�c t � -qr� -q' � qf"{" i3ll¾"icbi(cb 'T7TT q;)- (Rllli�?b 4

(-1'-t"fcfi (01. &m (11-f$il�Q, I 

13 

Explain with chemical equation any four oxidative properties of potassium 
permanganate in acidic medium. 

Discuss the changes in the following properties of the first transition series 

(i) Atomic radii

(ii) Ionisation energy

(iii) Metallic character

Ov) Oxidation states

qfw,(Tf t(rfl�s .. -q' � 'Rtt � � � mat t? �

Rhli1f41lr �I 

How does nucleophilic substitution reaction occur in alkyl halide ? 
Give its reaction mechanism. 

3Fffi I OR 

What is Elimination reaction ? Merition Saytzetrs rule associated with it. 

4 
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14 Q(iib1(;<.'I otrr f4i•11cl � '31cIT f<;if©Q, I

Write the differences between alcohol and phenol. 

3'1!fct1' I OR 

Q,efcb'1t;<.'1 otTT � {� � 4(;ql1 � ffl?

How to distinguish between alcohol and di-ethyl ether ? 

15 � 'ITToT t �

�� qiJ �qqq1 M liITTTT t

(i) cffi11t�R

(ii) �(r(bfch�-..n

(iii) LiAlH4 � otrr

(iv) Na-Hg/H20 �

What happens when -

Reduction of ethanal takes place -

(i) Clemmensen

(ii) Wulf-Kishner

(iii) By LiAII-14 and

(iv) by Na-Hg/1-120

� I OR 

Pi'-1f{;if©a �iffi � (1(11qPicb (1if!cb(OI Rr!f©Q, 

(i) �O�(fq ( �

(ii) t:Ll4>1 �·

.. (iii) (;14>q1 "\ �i'll'll�s 131f11RJit11

. (iv) i{-114>14 �

Write the chemical equations for the following reactions 

(i) Sandmeyer reaction

(ii) Stephens reaction
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·.(iii) . Hoffmann Bromamide reaction

(iv) Haloform reaction

16 (a)_ ct>Rif"U�T � � cf)1" � <6)ft:tl{ I

(b) 0.025 mol L-I �� � c6r 'ql\Ylcbdl 46.15 Scm2 mol-1 t,
� fclll11J'11 lff.TT � · PcllfliiH � q;r qf{c6\'1'1 cClft:tl{ I � Tf<TT t-

(a) Define Kohlransch's law.

(b) The conductance of 0.025 inol. L-1 methanoic acid is 46.15 Scm2 moJ-1•
Calculate its degree of dissociation and dissociation constant. Given that
http://www.rnpboardonline.com

o . 2 I �
o 2 1-I

A
( ) 

= 349.6 Scm mol- and fl,( -) = 54.6 Scm mo
H

+ HCOO 

� /OR 

(a) mrf � fcfm � i? �Tl'i2: 'ql\Ylc6dl cf "ffiif -�
- � � �

�ert? 

(b) 298 K 'q"{ � 'ql\Ylc6dl W � 0.001 M KCI Pc!�q.f t c.flT siR!(1eT

1500 Q t, � 0.001 M KCl Pcl\Ylq.f c6T 'ql\Ylc6dl 298 K 'q"{
0.146 x 10-3 Scm-1 "ITT al mrf � � t?

(a) What is cell constant ? What is the ·relation between specifi_c
conductivity and cell constant ?

(b) The resistance of a conductivity cell containing 0.001 M KC!,
at. 298 K is 1500 Q, if the conductance of 0.001 M KCl solution
at 298 K is 0.146 x 1 o-3 Scm-1, what is the cell constant ?

5 
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17 (lwqf{q; � $ f.JlTTur c6\" ffl � qlT �"1�furn �3TT 1l cfOA cbl�({ 5

(i) m fcifu q)l iti.;s,.:a

Describe the contact method for the manufacturing of sulphuric acid under 
the following headings 

(i) Principle of contact method

(ii) Labelled diagram, its main components and description of the reactions.

31� l OR 

'3ii?tPl41 �i:iio, cb'1" � fcifu it �® cJ>T <m14�q; (l'flq;<o1 om 

ffl 1l � � -� � qlT 11'-liRJict � � I 

Give the chemical equations for the reactions and the labelled diagram for the 
manufacture of ammonia by Haber's process. 

5

{b) (i) '3TTc@l

(ii) � om -;filr - �� -cfrm $ � tRAil $ � 0� ��
,3qq'1JI �f©({ I .

(a) Write two examples and formula of food preservatives.

(b) Write the names of active components and medicinal usage of

(i) Aamla

(ii) Tulsi and

(iii) Neem
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(a) G1" -ft�i&lfr � t .:rlll. �fuJ(t I 

(b) �� 3TQ"'11Gfq; cRTT t'? � q;J 13�1&<01 � I

(a) Write name of two analgesic medicines.

{b) What are synthetic deterge�ts ? Give example of its each type.
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